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Question Number : 1 Question Id : 630680289321 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Ganga Pollution control plan is started by:
Options :

1. ¥ Late Indira Gandhi

2. % Late Rajiv Gandhi

3. ¥ Narendra Modi

4. ¥ Late Atal Bihari Bajpai

Question Number : 1 Question Id : 630680289321 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

KO 52enN S AANO|HED |NDETRERD (IS0 ORI E:
Options :

1. % §3. 2000° o

2.¢ 83 o°8S mrod

3. % 3Bo(d Ird

4. % §3. @S DI axeS A%
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Question Number : 2 Question Id : 630680289322 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a secondary pollutant?
Options :

1. % Inorganic gases such as SO,, NO,, H,S, CO etc.
2. % Olefinic and aromatic hydrocarbon

3. # Radioactive compounds

4.+ Inorganic gases such as SO3, NO,, O3

Question Number : 2 Question Id : 630680289322 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

180 AN 50AS e3¢’ Fen PeNN BT DE?

Options :

1. ¥ SO,, NO,, H,S, CO INASIEN50¢3 €955 aaSneden.

2. % 8,05 B e3FSre38 2 ETEIS
3. % BABrer08 dad$oren
4. ¥ 803, NO,, 03 H0E3 9835 P A0YeN

Question Number : 3 Question Id : 630680289323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The green house coefficient for the earth is :
Options :

1. 1.137

2. % 1.337

3. % 0.1137

4. % 11.37

Question Number : 3 Question Id : 630680289323 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
250 By AS SR Heagdw:
Options :

1.9 1.137

2. % 1337

3. % 0.1137

4. % 11.37

Question Number : 4 Question Id : 630680289324 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a third-generation pesticide?
Options :

1. ¢ Hexalure

2. % Parathion

3.% 2,4, 5T

4. ¥ Fenuron

Question Number : 4 Question Id : 630680289324 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BOES 95 52E& a¢36S” Surrcsed 930 8T DE?
Options :
1. ¢ 35y sd
2. % JPoQATS
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3.% 24 5T
4. % D00

Question Number : 5 Question Id : 630680289325 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct about green chemistry?

(i) The green chemistry term was coined by Paul T Anastas.

(i1) It aims to develop products that are less toxic and degrade more rapidly.
(iii) It aims to achieve atom economy.

Options :

1. % Only (i) and (ii)
2. % (i), (ii) and (iii)
3. % Only (i) and (iii)
4. % Only (ii) and (iii)

Question Number : 5 Question Id : 630680289325 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5r8eh BRIONST 8 HORDO0AOD (80 B 5 (DEEIOES HBID IN?

(i) 5°8% PO R0 €9 D), O ¢3 IR BFFOLOTT K.

(if) 5 DT BSOS OO €983 SHOM § L30T &reh 1D ©0DHYE TOHHHD A ©F 0.
(iii) DBXTED BSYE K530 BFrFoB0IB0 A © 0.

Options :

1. % (i) Q0005 (i))eX S°(hosd

2.9 (i), (i) SO (iii)

3. % (1) OO (iii)en S°(eHaD

4. % (i) 08O (iii)en 33°(ehad

Question Number : 6 Question Id : 630680289326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of microwave synthesis?
Options :

1. ¥ Improves yield

2. % Reduces the side product

3. % Highly accelerated reaction rate

4.+ Large amount of Solvent is required

Question Number : 6 Question Id : 630680289326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1803 @H AN e36S° SE 2 $S0M HOBd Ty ©F.0 S DE?
Options :

1. ¥ && )00 DAMNIOGSC0

2. % 88 b e oo

3. % 29¢550¢5 SM0HR IT°S BED

4. ¢ D INB0S |T633 955030

Question Number : 7 Question Id : 630680289327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT physical pollution of water?
Options :

1. ¥ Turbidity

2. ¥ Colour

3. # Taste

4. ¥ Organic waste
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Question Number : 7 Question Id : 630680289327 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
180 @H 50BN e3¢ Qe 2T BE °eNNL0 A IE?
Options :
1. % OS¢ 50
2. % 3o
3.% D
4. % 0[O0 H5TTen

Question Number : 8 Question Id : 630680289328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The coagulant used to check the turbidity of water is:
Options :

1. % Ferric Chloride

2. % Sodium Chloride

3. ® Zeolite

4. % Nickel Sulphate

Question Number : 8 Question Id : 630680289328 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 O §530 HAD) TONTAE SHTIPAOTIT NRLISI:
Options :

1.¥ 85 5BE

2. % &F&OHo §B&

3. % B3

4. % J3S IB)H&O

Question Number : 9 Question Id : 630680289329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following substances is NOT biodegradable?
Options :

1. ¥ Fish and meat refuge

2. # Tea leaves

3. ¥ Garden waste

4. ¥ Polyethylene

Question Number : 9 Question Id : 630680289329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180CS B 5B T3S #XBE0 TOR DTG0 DE?
Options :

1. % THE DO 530N FAS0en

2. % ¢S esBoen

3. % & S5Ten

4. ¢ OO

Question Number : 10 Question Id : 630680289330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Phase transfer catalyst?
Options :

1. ¥ [18] crown-6

2. % PdCl,
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3. % Solid CO,

4. ¥ Pseudomonas

Question Number : 10 Question Id : 630680289330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AN QS 3e36S’ ¢5% 23¢5eT0N0Y) (3 )EESN DE?
Options :

1. ¢ [18] §5-6

2. % PdCl,

3. % 08 Co,

4. % Qr&Iror

Question Number : 11 Question Id : 630680289331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Defluorination of water with magnesium salts is carried out by adding
Options :

1. % Aly (SOy)3

2. ¥ Ca(OH) ,

3. % AlF;

4. % Zeolite

Question Number : 11 Question Id : 630680289331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HYA0N0 ©ITOE A3 AP OTAS TAHEE
A ZenHsN.

Options :

1. % Aly (SOy)3

2. % Ca(OH) »

3. % AlF;

4. % ITrBES

Question Number : 12 Question Id : 630680289332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct for hot lime soda process?

(1) This process cannot be used for house hold use.

(i1) The reaction is completed within a short period.

(iii) In this process silica is precipitated by adding magnesium oxide and lime at a temperature of 94°-100°C.

Options :

1. # Only (i) and (ii)
2. % (i), (ii) and (iii)
3. % Only (i) and (i)
4. % Only (ii) and (iii)

Question Number : 12 Question Id : 630680289332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&2 (808 @H5DBS ¢3S I@ B F® (DEANE H00E0D HTB S (DELIIEN D?

(i) 88 IDEBADD KT DATIPH0 FEEL DA BN,

(ii) T5B5 80365 5390’ LY.

(iii) 8 |DEOHES’ 94°-100°C S5 DAY N0 ©3)E SOOI BHANO D0 T ST° DO 95T D0 DS ICH0E.
Options :

1. % (i) OO (ii) &0 S°(eH 0

2. ¢ (i), (i) S0BASW (iii)
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3. % (1) OO (iii) €0 (b0
4. % (if) 08O (iii) @0 37°(had

Question Number : 13 Question Id : 630680289333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following compounds is used in Ion Exchange process for purification of water?
Options :

1. ¥ Mg(OH),

2. % Glauconite sand

3. % CaCOj

4. % Silica

Question Number : 13 Question Id : 630680289333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&5 1806 B 50AS IS D3 HOEB TS ATS S8 (DBOHS’ GdTPAONIIEIED IE?
Options :

1. ¥ Mg(OH),

2. ¥ TPERE 20

3. % CaCO4

4. % 30

Question Number : 14 Question Id : 630680289334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

The anion exchange resins, used in ion-exchange process for water softening, is/ are:
(i) Tertiary amines

(ii) Sulpho-acid

(iii) Quarternarysulphonium bases

Options :

1. ¥ Only (i) and (ii)

2. % (i), (ii) and (iii)

3. % Only (i) and (iii)

4. % Only (ii) and (iii)

Question Number : 14 Question Id : 630680289334 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Q3 53906 50 §0 eATS-3r0)E (DEAHES’ &OTIFAOT SIATS S3r8)E BRW:
(i) Q0 Y

(i) OS°)-e30050

(iii) 5° 58518 O HIVOHO TBH0eN

Options :

1. % (i) OO (ii)ew 33°(hadd

2. % (i), (i) SO (iii)

3. ¥ (i) OO (iil)e So°(eH

4. % (ii) 08A%W (iii)@ 33°(H %

Question Number : 15 Question Id : 630680289335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The reagent used for estimation of free chlorine in water is:
Options :

1. ¥ KI

2. % Na,COs

3. % Starch

4. % AgCl
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Question Number : 15 Question Id : 630680289335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DS D) FO) 0T BONERE & ITIFA0IDT SPSESW:
Options :

1. ¥ KI

2. % Na,CO5

3. % 0B Hrdo

4. % AgCl

Question Number : 16 Question Id : 630680289336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following metals CANNOT be determined by spectroscopic dithizone method?
Options :

1. ¥ Na

2. % Cd

3. % Hg

4. % pb

Question Number : 16 Question Id : 630680289336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1B0CS 85 £3BS T3S O 753 VT DE BOE'S HOBS® AGanodSen?
Options :

1. ¥ Na

2. % Cd

3. % Hg

4. % Pb

Question Number : 17 Question Id : 630680289337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT used as flocculant?
Options :

1. # Polyacrylamide

2. ¥ Sodium sulphate

3. ¥ Ammonium sulphate

4. % Sodium chloride

Question Number : 17 Question Id : 630680289337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1803 AN 52BN e3¢5 &P (floceulant) GHTITAHOTIDEIE DE?
Options :

1. % 3O ZOE

2. ¢ FAOHO OB)HE

3. % @300 OSHE

4. % FA0H0 §B&

Question Number : 18 Question Id : 630680289338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following compounds are disinfectant compounds?
(i) Hypochlorite

(ii) Ozone

(iii) Chlorine dioxide

Options :

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 7166
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1. # Only (i) and (ii)
2. % (i), (ii) and (iii)
3. % Only (i) and (iii)
4. % Only (ii) and (iii)

Question Number : 18 Question Id : 630680289338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AN AN ¢3S &) TN SOIEMD0SFEE HahgFaren?
(i) 3PS TE

(i) &8°Q

(iii) §68 B I&

Options :

1. % (i) OO (ii)ew 33°(hadd

2.9 (i), (i) SO (iii)

3. % (1) OO (iii)e So°(eHaD

4. % (if) S08A%W (iii)en 37°(ehad

Question Number : 19 Question Id : 630680289339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a Fluoropatite?
Options :

| ¥ [3C'83(P04]2C3F2]

2 % Caz(POy )
3 % NaESﬂ‘:ﬁ

4. % NﬂjAu:_ﬁ

Question Number : 19 Question Id : 630680289339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 AN 52ES ¢35 FEITES JE?
Options :

| [3C'33(P04]2C3F2]

o w Ca3(POy)

3 % NﬂzSﬂ'—‘S

4 % NﬂjA[Fﬁ

Question Number : 20 Question Id : 630680289340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Gravimetrically Zinc is estimated as:
Options :

| % Zn50,

9 % ZJ]{.}{H_L}PO_-L
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3 % ZnC 12

4 Both Zn(NH,)PO, and Zn,P,04

Question Number : 20 Question Id : 630680289340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

22080 23870 & DO 0TI SONDROE:
Options :

| % Zn50,

9 % ZJ]{}{H_L}PO_L

4 v Z0(NH,)PO, SH8C58 ZnyPH0; €0 By

Question Number : 21 Question Id : 630680289341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

An ignited Magnesium ammonium phosphate gives:
Options :

1. % Magnesium phosphate

2. ¥ Magnesium pyrophosphate

3. % Magnesium sulphate

4. % Ammonium phosphate and magnesium

Question Number : 21 Question Id : 630680289341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SD0CRBIN) DAY NCN0 A0 R )E DS IBTDIE
Options :

1. ¥ 2HAAD0 FRHE

2. ¥ DALRCDH0 DEFID)E

3. % AN IB)HE

4. % 3570000 ) 88w Ay haHo

Question Number : 22 Question Id : 630680289342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The mumber of proton NMR signals in the given molecule is:

CH; H
‘\\ c=C /

CH;-"/ ~~H
Options :
1.2
2. %3
3. %4
4. %1

Question Number : 22 Question Id : 630680289342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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2D 0O (FErS NMR D) S Hows:

CH; H
""\ et /

cHy””  NH
Options :
1.¥2
2.% 3
3.% 4
4. % 1

Question Number : 23 Question Id : 630680289343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following molecules has the highest >C=0 frequency?
Options :

O

Efﬂ
.

Question Number : 23 Question Id : 630680289343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 @H DA ¢3S’ &) e ©eHEE >C=0 &359BQ O G0 E?
Options :

O

Efo
.

Question Number : 24 Question Id : 630680289344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Which of the following molecules is IR active?
Options :
1. % 0,
2. % H,
3. ¥ H,0
4. ® Cszcﬂz

Question Number : 24 Question Id : 630680289344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1B0CS 85 5B ¢3S IR (8053 €960y DE?
Options :

1. % 0,

2. % Hy

3. % H,0

4. % CH,=CH,

Question Number : 25 Question Id : 630680289345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following solvents is most polar?
Options :

1. # Chloroform

2. ¥ Methanol

3. ¥ Pyridine

4. % Acetic acid

Question Number : 25 Question Id : 630680289345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 @H AN e3¢5 & (T35 €9¢850¢H [CNDONDSET E0EN0E?
Options :

1. % S

2. ¥ DT

3. % 88

4. % J2¢35 e8o00

Question Number : 26 Question Id : 630680289346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

What is the colour of Thymolphthalein indicator in an acid solution?
Options :

1. ¥ Yellow

2. % Blue

3. % Red

4. ¥ Colourless

Question Number : 26 Question Id : 630680289346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&Y (S80S FIrS-TOS JrDE Ty, B0rH des?
Options :

1. ¥ 50D

2. % Qo0

3. % QA0
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4. ¢ D3Q0

Question Number : 27 Question Id : 630680289347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is better indicator for titrating chloride of Ni by adsorption indicator method?
Options :

1. ¥ Methyl orange

2. # Thymolphthalein

3. % Dichlorofluorescein

4. % Methyl red

Question Number : 27 Question Id : 630680289347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180CS 85£3E& ¢3S 5089 I DE HO & £0° Ni TBwE), SBEXD BB TOHEAE &% I DE AE?
Options :

1. % 08 ess02s

2. % ZRrer) O

3. ¥ BEEFTIDS

4% BS 2D

Question Number : 28 Question Id : 630680289348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a CORRECT pair?
Options :

1. # Phenolphthalein - internal indicator

2. ¥ Methyl orange - external indicator

3. % Potassium ferricyanide - internal indicator

4. % Starch - eternal indicator

Question Number : 28 Question Id : 630680289348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1B0CS B 5B E3S” OB S 2365 DE?
Options :

1. % HS-TOS - @0esSeh S

2. ¢ 0BSO &8802F - 25Ty Qrdd

3. % SPErA0N0 DOVIE - ©0ehHed QD
4. % D) - T3 5 e

Question Number : 29 Question Id : 630680289349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Molisch reagent is used to test:
Options :

1. # Aldehyde

2. ¥ Ketone

3. % Carbohydrate

4. # Phenol

Question Number : 29 Question Id : 630680289349 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

FrORA 5°3E8ND GHTBFAOD DO 0HIA :
Options :

1. % O3
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2. % &¢5°S
3. ¢ 8 ) BE
4. % D37

Question Number : 30 Question Id : 630680289350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following reactions does NOT involve the formation of free radical intermediates?
Options :

1. # Reaction of HBr with propene in presence of peroxide

2. % Reaction of ethyl benzene with NBS in CCl, solvent

3. % Reaction of HBr with propene without peroxide

4. % Propene is heated with chlorine molecule at 600 °C

Question Number : 30 Question Id : 630680289350 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

18O @3 529G 376365 B0 VST T'BEDRD AEIEIID DE?
Options :

1. % DTBIE D0E 0SS’ (FDSS HBr By, w585

2. % CCl, (He3S° NBSS' 93S BoES By, w55

3. ¢ D05 BH0T (DS HBr BBy, TS

4. % 600 °C SO TOS @e0)S DS SE ToHcsero

Question Number : 31 Question Id : 630680289351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most stable free radical?
Options :

1. ¥ Vinyl radical

2. % Allyl radical

3. ¢ Benzyl radical

4. ¥ Methyl radical

Question Number : 31 Question Id : 630680289351 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1B0& e3¢5’ @e$50¢h DES D) T°AES DE?
Options :

1. % DTS oo &S

2. ¥ 035 o°GES

3. ¢ BoBSO o°BES

4. % 038S o°BES

Question Number : 32 Question Id : 630680289352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following has pyramidal shape?
Options :

1. ¥ Methyl radical

2. ¥ Methyl carbanion

3. # Methyl carbocation

4. % Dichlorocarbene

Question Number : 32 Question Id : 630680289352 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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1808 ¢3° DN 857306’ GOBIE AE?
Options :
1. % 03 0°GES
2. % BS 58NS
3. % 086 5°8)30Q
4. % ZFEE)S

Question Number : 33 Question Id : 630680289353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i eacti Conc. H,50;, :
The major product of the reaction CH,CH,CH,CH,0H 2 B
Heat
Options :

1 % CHSCHECHch:CHE

H

CH,
=R
R4 H4C H
H.C CHs
N
74 B
3 % H H

4 % (CH3]2CH=CH2

Question Number : 33 Question Id : 630680289353 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CH;CH,CH,CH,0H cm{;&&h 585 T0EY (DG €oeh yed) S0
eat

Options :
1 % CH_;CHECHch:CHE

H

CH,
=
R4 HaC H
H.C CH»
S
74 g
3 % H H

4 % (CH3]2CH=CH2

Question Number : 34 Question Id : 630680289354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) about electrophilic addition reaction of alkene is/are correct?
(i) The carbocation intermediate is formed in this reaction.

(i1) The first step is the slowest step and rate determining step.

(iii) The order of reaction is second.

Options :
1. % Only (i)
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2. % Only (i) and (ii)
3. % Only (ii) and (iii)
4. % (i), (ii) and (iii)

Question Number : 34 Question Id : 630680289354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31L& T IB(FDOE H0EOS THSs HOOD (80 BH RS (DEEIS@)S HBSE/D DE/D?
(i) 88 935S 0950 SEFITAS DB ICS0A.

(i) D0EIE3 5% T 5% 083A%M B AGONOTI ¢9%.

(iii) ©SB§ DBNEY 5Sied Bok.

Options :

1. % (i) S5

2. % (i) OO (ii) 0 S°(H D

3. % (ii) 080 (i) @0 37°(¢had

4. (1), (ii) QOB (iii)

Question Number : 35 Question Id : 630680289355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following alkenes is most reactive towards halogen acid?
Options :

| % CH2=CH2

, % CH3;CH=CH,

3 (C.‘H3]2C=CH2

, » CH;CH=CHCHj

Question Number : 35 Question Id : 630680289355 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

80 @S5 53605 ¢3S’ S S 3500 HE e9¢55065 TR @39 S DE?
Options :

| % CH2=CH2

, % CH3;CH=CH,

3 (C.‘H3]2C=CH2

, » CH;CH=CHCHj

Question Number : 36 Question Id : 630680289356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The major product of the given reaction is:

CH;CH=CH, + CHCl; + (CH3);COK

Options :
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HiC

Cl

3 ® CH3;CHCH,CHCly

Cl

CH;CHCH,

Cl

Question Number : 36 Question Id : 630680289356 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Q)N IG5 OBNEY, |G Bed )od) 0

CH;CH=CH, + CHCl; + (CH3);COK

Options :
HaC

Cl

3 % CH;CHCH,CHCly

Cl

CH;CHCH,

Cl

Question Number : 37 Question Id : 630680289357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The axis of symmetry present in chloroform molecule is:
Options :

1. % C,
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2.¥ Gy
3.% Cy
4. % Cq

Question Number : 37 Question Id : 630680289357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FEID e0e0HS’ tfe> ey E.0:
Options :

1. % C,

2.9 Cy

3.% Cy

4. % Cq

Question Number : 38 Question Id : 630680289358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The total number of stereoisomers of compound 2, 3-Dihydroxybutane-1, 4-dioic acid is:
Options :

1. %2

2.¥3

3.% 4

4. % ]

Question Number : 38 Question Id : 630680289358 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2, 3-8 )P EIS-1 DeBS0, 4-¢5TIronE @30 TE) VOTroF S B0 Hows:
Options :

1.%2

2.3

3.% 4

4. % 1

Question Number : 39 Question Id : 630680289359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most stable conformation of n-Butane is:
Options :

1. # Staggered

2. % Eclipsed

3. ¥ Gauche

4. % Anti

Question Number : 39 Question Id : 630680289359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

n- 2275 TR TBNEY 965505 DA €88 yed:
Options :

RIS

2. % &G Ho

3. % IS

4. ¢ 3sBE

Question Number : 40 Question Id : 630680289360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The most stable conformer of cyclohexane is
Options :
1. ¥ Chair
2. % Boat
3. # Twist Boat
4. ¥ Half chair

Question Number : 40 Question Id : 630680289360 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

VFTTEIS By @550 VIS S y$b
Options :

1. ¥ 508)

2. % DS

3. % ¢3¢0 5

4. % 550 808)

Question Number : 41 Question Id : 630680289361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) about SN1 reaction is/are correct?

(i) The rate of SN1 is not affected by the nature and concentration of base.

(i) Polar protic solvent such as water and alcohol increases the rate of SN1 reaction.

(iii) An optically active alkyl halide produces a racemic mixture of the substitution product.
Options :

1. % Only (i)

2. % Only (ii)

3. ¥ Only (ii) and (iii)

4.9 (i), (i) and (iii)

Question Number : 41 Question Id : 630680289361 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 (808 (DEX(@)S” SN1 58550 H0D0E0D) DBIE/D DE/?

(i) Sn! G30E) BED STB0 ARNEY N 52790 S0BASW Mehed @ ST° (DTS 0 TOID.

(i) DA SO0 €30 57°S H0E3 105 (¢3T (c3°33 Syy! IS5 B DOTHEE0E.

(iii) €398 VT°sR® e5B5S FSE (HDTNS Ge )OS0 TINE) TS WFXTAY, DB,
Options :

1. % (i) S°(¢had

2. % (i) S°(¢hodd

3. % (i) Q0B0 (iii) 20 S5 ehadd

4. ¢ (i), (ii) B (iii)

Question Number : 42 Question Id : 630680289362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) about nitration of aromatic compounds is/are correct?
(i) The aromatic nitration is an electrophilic substitution reaction.

(ii) The rate of nitration of ethyl benzene is greater than that of benzene.

(iii) The rate of nitration of benzene is greater than that of hexadeuterobenzene.

Options :

1. # Only (i)

2. % Only (ii)

3. % Only (ii) and (iii)
4. % (i), (i) and (iii)

Question Number : 42 Question Id : 630680289362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
0E0E IRNFT DIBIAS HE0D 0B (HEEIS(EN)S’ DA/ DBSE/D?
(i) OO BBAS @I DOFDOE (DT DHed 55,
(i) BBS BoES JBOAS T B02ES F0T DBYS.
(iii) BOES J BN Bew 25 )BT 2308 S 50T D80S
Options :
1. % (i) S°(¢had
2. ¥ (i) S°(H o
3. % (i) S0BO (iii) €0 33°(hadd
4. % (i), (ii) OO (iii)

Question Number : 43 Question Id : 630680289363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the list T with List IL.

Reacticn Product
CH; CHy
NBS/CCL i MO
—_— ) :
0] ropmers (major)
CH} CHz
KnOs
(id) —_ (k)
COCH;
CH;3 CHBr
CH,COCI
(ia1) A ©
CHy COOH
Con HNO;
) Cone. Hy50, @
Options :

1. ¥ i-a, ii-b, iii-d, iv-c
2. ¥ i-c, ii-d, iii-b, iv-a
3. % id, ii-c, iii-a, iv-b

4. % j-c, ii-b, iii-d, iv-a

Question Number : 43 Question Id : 630680289363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e 1D erder 11 & 2365035085,
Feaction Product
CHi CHy
NBSCCL, MO,
(1) m"" (a) {mayor)
CH; CHz
(@) e ()
COCH;
CHj CHEBr
. CH;COC)
(i) A T (c)
CHy COoH
Con HNO,
() Conc H,30, @

Options :
1. ¥ i-a, ii-b, iii-d, iv-c

2. ¥ i-c, ii-d, iii-b, iv-a
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3. ¥ i, ii-c, iii-a, iv-b

4. # j-c, ii-b, iii-d, iv-a

Question Number : 44 Question Id : 630680289364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Benzene is treated with isopropyl chloride in presence of anhydrous aluminium chloride. The major product of the reaction is:
Options :

1. ¥ Isopropyl benzene

2. % Propyl benzene

3. ¥ Styrene

4. ¥ Ethyl benzene

Question Number : 44 Question Id : 630680289364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OS3T(HD @OTEMACN0 FBE H0E 0 B0E S DTS SBES 983 2350)TS. IS TINEY, 1S
G )OS0:

Options :

1. ¢ QPO V0B

2. % (0O B0oBS

3. % Q0

4. % 33O 3028

Question Number : 45 Question Id : 630680289365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following compounds are antiaromatic?

0 {3 Y

@

0 (if) (i) (v)
Options :
1. % Only (i) and (ii)
2. % Only (i) and (iii)
3. % (i), (ii) and (iii)
4. % (i), (iii) and (iv)

Question Number : 45 Question Id : 630680289365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1808 S FreeS’ airoedestsneds e/?

) (11) {u1) (i)

Options :

1. ¥ (i) OO (ii) €0 S°(H3D
2. % (i) OO (iii) €0 S°(Ha
3. % (i), (i) OO (iii)

4. % (1), (iii) SOOAW (iv)
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Question Number : 46 Question Id : 630680289366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many molecules of periodic acid are consumed for one mole of glucose?
Options :

1. ¥ Five

2. % Six

3. ¥ Four

4. ¥ Three

Question Number : 46 Question Id : 630680289366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

208 IS (7625 FEE0 €338 €360 TBEY D)), ©ENHEN DATIAOTI2)B T ON?
Options :

1. ¥ 20

2. % &

3. % Jrentd

4. % 3007

Question Number : 47 Question Id : 630680289367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Glucose and mannose are:

Options :

1. # C3 epimers

2. % (C2 epimers

3. ®¥ (C4 epimers

4. % C5 epimers

Question Number : 47 Question Id : 630680289367 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
828 28050 S3S25 e 908
Options :

1. % C3 0D

2. % C2 DDA

3. % C4 QDB

4. % C5 DD

Question Number : 48 Question Id : 630680289368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT undergo mutarotation?
Options :

1. ¥ D-glucose

2. ¥ D-fructose

3. % Sucrose

4. % D-Ribose

Question Number : 48 Question Id : 630680289368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S S5EFTTINS TORIE AE?
Options :

1. % D -(°8%8

2. % D (DT

3. ¢ 8%
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4. % D-BSD

Question Number : 49 Question Id : 630680289369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules form the same osazone?
(i) D-glucose

(i) D-mannose

(iii) D-fructose

Options :

1. ¥ Only (i) and (ii)

2. % Only (ii) and (iii)

3. % Only (i) and (iii)

4.+ (i), (ii) and (iii)

Question Number : 49 Question Id : 630680289369 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S & @EMHEN 28 2 E T VSISO ON?
(i) D -00°¥s

(i) D - S5°e3%2S

(iii) D DS

Options :

1. % (i) OO (ii) €0 S (eH

2. % (ii) 080 (iii) @0 33°(¢had

3. % (1) 0005 (iii) @0 (S

4.+ (i), (ii) OO0 (iii)

Question Number : 50 Question Id : 630680289370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The final product (C) of the given reaction is:

Br,/H,0 CaC0o, H,0,
D-(+)-glucose » (A) » (B) T 3 (C)
C
Options :

L D-(—)-Arabinose
, % D()-Glucose
3 % D-(7)-Fructose

4. % Gluconic acid

Question Number : 50 Question Id : 630680289370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
20 ) G5 BEY O Bre )OS0 (C):

D-(+)-glucose 3 (A) y (B) = 3 (C)

Options :

, x D)-rges
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W,
5 % D-CO-DES

4 x (ERS essdo

Question Number : 51 Question Id : 630680289371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are CORRECT?

(i) All amino acids are optically active except glycine.

(ii) Proteins when treated pyridine solution of ninhydrin give colour ranging from deep blue to violet pink, or even red in some cases.
(iii) Like amino acid, proteins also have amino and carboxylic termini and are amphoteric in nature.

Options :

1. % Only (i) and (ii)
2. % (i), (i) and (iii)
3. % Only (i) and (iii)
4. % Only (ii) and (iii)

Question Number : 51 Question Id : 630680289371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (HELIOS HBID IN?

() BRS DI ©9Q) S’ eairren esEST HSFMT SOEFow.

()3T (AS B DOAS (T3°39 £33 503 DY I (8¢3D S°BS Der0 o0& IBE DT $8 B §)
H0TYS &Y B0 eoerow.

(iii) 9D’ €300 5, (3D S LIRS’ DB 5°0°)8 ) BB EOR 0T HOA5N 0
A5 5273500 DB GoETow.

Options :

1. % (i) 0805 (ii) €0 S3°(had

2. % (i), (i) S0Ba%W (iii)

3. % (1) 0005 (iii) €0 (B

4. (i) 0BAKW (iii) €0 37°(hadd

Question Number : 52 Question Id : 630680289372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Iodine number of Butter is:
Options :

1.%0-5

2. % 10-20

3.9 25-40

4. % 50-100

Question Number : 52 Question Id : 630680289372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
35 ABE) 9RBPAES So§:
Options :

1.%¥0-5

2. % 10-20

3.9 25-40

4. % 50-100

Question Number : 53 Question Id : 630680289373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Iodine value is expressed as:
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Options :
1. ¥ the number of grams of iodine that will be added to 100 g of the fat or oil being tested
2. # as the number of grams of iodine that will be added to 1000 g of the fat or oil being tested
3. % as the number of kilograms of iodine that will be added to 1000 g of the fat or oil being tested
4. % as the 1 mg of iodine that will be added to 100 g of the fat or oil being tested

Question Number : 53 Question Id : 630680289373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

OFA Ded ey .;Sgéééoéaacéaéoo&:

Options :

1. ¥ H88 02D 100g © FH S S QL0 enDT 9TITAS (TSne HORS

2. % 568 090¢08) 1000g © §Y § Broe S8y EenDT 9TTAS (ITSne SOPS

3. % HB8 090e58) 1000g © §Y) S B S8y Eendl 9rAS 8P Hows
4. % 588 092883 100g © §H g Soe S8y 1 mg TR Ee0NDDCNSH0E

Question Number : 54 Question Id : 630680289374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about detergents is correct?

(i) A detergent can be defined as a chemical compound capable of removing liquid and/or solid dirt from the surface of a solid.
(i1) A detergent possesses a long, nonpolar, hydrophobic, hydrocarbon chain, which is soluble in fats, oils and greases.

(iii) Alkyl sulphates, alkyl sulphonates and alkyl-aryl sulphonates are example of cationic detergents.

Options :

1. % Only (i) and (ii)
2. % (i), (ii) and (iii)
3. % Only (i) and (iii)
4. % Only (ii) and (iii)

Question Number : 54 Question Id : 630680289374 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8005 B 50BS ¢3S BT0ETe HBOD DB DN?

(i) BEITOES ST S SDBH0 OB (S5 HOTN/EET 05 ErD FOAOTIHES 2.8 BIFANS F02FS0.

(ii) 28 BEBOE resare3, @[S, BOATEL, IPIETEIS 0DV EOA G0LNOR), VA F 500, SR HBASN
BerereS $SHenod.

(iii) 8B5S IBHEW, 8BS O T e DO 3B S-e38S DS YT e SLTITIT BETOE L ST Se.
Options :

1. ¥ (i) OO (ii) €0 S0°(H

2. % (1), (ii) SO (iii)

3. % (i) OO (iii) €0 (D

4. % (if) 08O (iii) €0 33°(¢hadd

Question Number : 55 Question Id : 630680289375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
The calculated ., value of the following compound is:

Options :

1. ¥ 349 nm
2. % 280 nm
3. % 245 nm
4. % 244 nm
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Question Number : 55 Question Id : 630680289375 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sold Va0 GB0S), T5) 0SDER Aggy, DRVD:

Options :

1. ¥ 349 nm
2. % 280 nm
3. % 245 nm
4. % 244 nm

Question Number : 56 Question Id : 630680289376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The inductive effect is sometimes referred to as:
Options :

1. # transference effect

2. ¥ transmission effect

3. # mesomeric effect

4. % temporary effect

Question Number : 56 Question Id : 630680289376 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L8% (0257 TS ®er Syl d:
Options :

1. % 2600 (02700

2. ¥ DY (D200

3. % 0BT (H2rd0

4. % e O |02rH0

Question Number : 57 Question Id : 630680289377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are main condition(s) for resonance?

(i) The position of the nuclei in each structure must be in the same plane.
(i1) The number of unpaired electrons in each structure must be the same.
(iii) Each structure must have about the same internal energy.

Options :

1. # Only (i)

2. % Only (i) and (ii)
3. % (ii) and (iii)

4.+ (i), (i) and (iv)

Question Number : 57 Question Id : 630680289377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 196365 5Q EN0 DTS ABS(E0) DE?

(i) 10 QT°8065°Q Bo(E5° TS0 D IAIBM 2,3 Hdevb06S omd.
(ii) 19 QT°6906 255°Q IO TR DO DI 2.8 DO oTd.
(iii) 156> DT"YE90 T 2.8 @08 $8J ¥R o d.

Options :

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 25/66



31/07/2023, 18:09

1. % (i) S°(¢had

2. % (1) OO (ii) €0 S°(eH3D

3. % (i) QB3 (iii)

4.9 (i), (i) OB (iv)

Question Number : 58 Question Id : 630680289378 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The increasing order of electrons releasing inductive effect of alkyl groups follow the order-

Options :

1. # t-Butyl<iso-propyl<ethyl<methyl

2. # iso-propyl< t-Butyl< methyl< ethyl

3. ¥ methyl< ethyl< iso-propyl< t-Butyl
4. % methyl< ethyl< t-Butyl< iso-propyl

Question Number : 58 Question Id : 630680289378 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

3°¢3 0B DRI DO|TR HOWS eSO 8By S Dadraed (E0:

Options :

1. # -2 DO<OP-( P RNO<VBO<NFTO

2. % P NO< t- 20§D < DFO< ABO
3. ¢ DBO< ABO< - (O < t- 20O
4. % BO< IBO< t- 20§ O < V(T RO

Question Number : 59 Question Id : 630680289379 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match list I with list II.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

List I (Bond) List II (Bond energy KJmol!)
a.F--H....H i 431
b. O----H...H ii. 8.37
Geleebl oL | 5 2909
d. H---H...H iv.41.84
Options :

1. % a-i, b-ii, c-iii, d-iv

2. % aii, b-i, c-iv, d-iii
3. ¥ a-iv, b-iii, c-ii, d-i

4. % adiii, b-iv, c-i, d-ii

Question Number : 59 Question Id : 630680289379 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

D 1D e IS S5 N80G.
e [ (2060) | 4oy IT (23065 38 KImol)
a.F--H....H i 431
b.O=H.-8 liigw
C. N“"H.. ..H Iii. 29‘29
d. H—---H...H iv. 41.84

Options :

1. % a-i, b-ii, c-iii, d-iv

2. % aii, b-i, c-iv, d-iii
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3. % a-iv, b-iii, c-ii, d-i

4. % a-iii, b-iv, c-i, d-ii

Question Number : 60 Question Id : 630680289380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

pK, value of acid A, B, C, D are 6.3, 4.7, 9.5, -2.1 respectively. Which one is strongest acid among these?
Options :

1. % A

2. % B

3.%C

4.9 D

Question Number : 60 Question Id : 630680289380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A, B, C 08050 D €863 pK, D090 SS00M 6.3, 4.7, 9.5, 2.1. DE3S’ 2000 DE?
Options :

1. % A

2.% B

3.%C

4. ¥ D

Question Number : 61 Question Id : 630680289381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following reaction intermediate is formed by Homolytic fission?
Options :

1. % Carbocation

2. % Carbanions

3. ¢ Free readicals

4. % Carbeen

Question Number : 61 Question Id : 630680289381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DU SrOESE DD )E @7 g0° &5 (8O IS DO DA DS IRB0E?
Options :

1. ¥ 58)H3AS)

2. % 5255000

3. ¢ 550 0P RESD)

4. % 8)8

Question Number : 62 Question Id : 630680289382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following properties is not considered as colligative properties?
Options :

1. # Osmotic pressure

2. # Lowering of vapour pressure

3. ¥ Boling point

4. % Depression in freezing point

Question Number : 62 Question Id : 630680289382 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S A TOREIS 5820 HBKNE305c8C?
Options :
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1. % 2,88¢38 DchS0
2. % &8 D), S$HoTscso
3. ¢ 2791)2355 S0
4. % 3DE8ed 90 o)

Question Number : 63 Question Id : 630680289383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The pH of a 1x10”7 M solution of HCI at 25 °C is:
Options :

1. %7

2.96.79

3.% 72

4. % 779

Question Number : 63 Question Id : 630680289383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 °C 5 HCI B30EY 1x1077 M (&3°5€90 O30, pH:
Options :

1. % 7

2.¥6.79

3.% 72

4. % 779

Question Number : 64 Question Id : 630680289384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the number of components and the degree of freedom in an aqueous solution of glucose?
Options :

1. ¥ C=2,F=3

2. % C=2,F=2

3. % C=3,F=2

4. % C=1,F=1

Question Number : 64 Question Id : 630680289384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(0878 By D23 (79690 TZNEY, 27T DO SDBAIN R TI°)) 0N OeH?
Options :

1. ¥ C=2,F=3

2. % C=2,F=2

3. % C=3,F=2

4. % C=1,F=1

Question Number : 65 Question Id : 630680289385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is one component system?
Options :

1. ¥ The water system

2. ®% KI-Water system

3. #¥ Pb-Ag system

4. ¥ Zn-Mg system

Question Number : 65 Question Id : 630680289385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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80C5 RS 5DBS T3S 28 @0F 55550 AE?
Options :
1. ¢ e3 553
2. % KI-e3 5550
3. % Pb-Ag 03§90
4. % Zn-Mg 53§38

Question Number : 66 Question Id : 630680289386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an intensive property of a thermodynamic system?
Options :

1. % Volume

2. % Energy

3. ¥ Pressure

4. % Entropy

Question Number : 66 Question Id : 630680289386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S GHIBE 5598 TBNE) 0SS ©E 0 DE?
Options :

1. # 0085900

2. % 3§

3. ¢ DBS0

4. % 382

Question Number : 67 Question Id : 630680289387 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct chronology of following the laws of thermodynamics is:
Options :

| % Zero, 1%, b
) ESt._ End! 31’{1‘ Zero

3 % ESt._ zero. 31’(1! zﬂd

4% ESt._ End! zero, 3}?(1

Question Number : 67 Question Id : 630680289387 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SREBE DONITFOD ©DHB0T IBS T80
Options :

L% S0, 16, 269, 3

e v
5 o 18,28, 35, Qo)

3 % 18, QOFT°), 349, 26

4 % 16,285, Qo 345
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Question Number : 68 Question Id : 630680289388 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is INCORRECT?
Options :

| % Isobaric process : Ap=0

,  Isoenthalpic process : AS=0
5 % Isochoric process : AV=0

4 % Isothermal process : AT=0

Question Number : 68 Question Id : 630680289388 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

206 2365063 HOTAE DE?
Options :

1% SO LN AN O] L_E.}C}k_gdl) : Ap=0

, DT JoardyE HIow: AS=0

3. % w‘%ﬂgﬁag @@o& - AV=0

4w OFHEIS (D8 : AT=0

Question Number : 69 Question Id : 630680289389 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The criteria of a reaction to be spontaneous is:
Options :

1.% AE<0

7 #% AS<0

3. ¢ AG<0

4. % AHZ=0

Question Number : 69 Question Id : 630680289389 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

298§ 380801 50 HETRVE K (Dedreao:
Options :

1. % AE<O0

7 % AS<0

3. AG=<0

4. % AH>0
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Question Number : 70 Question Id : 630680289390 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct?

1. Distribution law is valid at constant temperature

2. Distribution law is valid when similar molecular
species exist in the two phases in contact with each other.
3. Distribution law is given by Lewis.

Options :

1. ¥ Only I and 2
2. % Only 2 and 3
3. % Only 1 and 3
4. % 1,2and3

Question Number : 70 Question Id : 630680289390 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 (DELIOS” DB AN?

1. DO B0 VE & H5ed 3 TSAOE

2. 258 DS DBXPED 2SN 2.5 2,5¢3 H0DBY 0 €55 BOk é%@ﬁ G569 )C0 AANAL B0 TETEN
@)0A.

3. DANAD T POV (D3P OTICR.

Options :

1. ¥ 1 00050 2 e So(ehadd
2. % 2 58050 3 e S(ehedd
3. % 108050 3 e Srlehad
4. % 12086053

Question Number : 71 Question Id : 630680289391 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

The solubility of a substance generally increases with:
Options :

1. ¥ increasing temperature

2. % decreasing temperature

3. % constant temperature

4. % varying temperature either with increasing or decreasing

Question Number : 71 Question Id : 630680289391 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 DTG0 TBwE), (TSe300¢h PGS0 S DEHS0E:
Options :

1. ¥ 2SS, G

2. % SHSS) S

3. % DB S|

4. % DEHSD) S SHS$S) VETS K

Question Number : 72 Question Id : 630680289392 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to Kohlrausch’s law:
Options :
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— 70 /30
3. % Am= Ay A

Question Number : 72 Question Id : 630680289392 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
F°S-T" ATHNO (D5°B0:
Options :

Question Number : 73 Question Id : 630680289393 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is related to Faraday’s laws of electrolysis?
Options :

1. ¥ Atomic number of the cations

2. % Atomic number of the anions

3. ¥ Equivalent weight of the electrolyte

4. % Speed of the cations.

Question Number : 73 Question Id : 630680289393 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S BT TINEY DCVIA L8 AANSTOZ HOROEODIE DE?
Options :

. % OB DBATED DOPS

2. % 29305 DBEN oS

3. ¢ QO TBE TEY DSTIS 2508

4. % A ) SK0.

Question Number : 74 Question Id : 630680289394 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct form of Schrodinger equation?
Options :

R’ 2 7 a
[ A2 +V]¥=EV¥
1.% m

2
. [:_m A2 +V]¥=E ¥

~ A2 +V]E=EY

-k
3.\%[”‘»

[—X A2 +V]¥=EW¥
4. &% Zm
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Question Number : 74 Question Id : 630680289394 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
1B0CS 95 5B T3S FA0KE HadESI0 TE), DB B30 DE?
Options :

R’ 2 i -
[ A2 +V]¥=EV¥
1. ® m

- [% A2 +V]¥=E¥

-R* 2 H -
[Z2 A2 +V]¥=EV¥
3. m

. [_zl A2 +V]P=EW¥
4. m

Question Number : 75 Question Id : 630680289395 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the total number value of m for a given 1?
Options :

1. %1

2.% 1+1

3.921+1

4. % 2]

Question Number : 75 Question Id : 630680289395 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

995203 1 D980 m AZE) INB0 HOFPS DN DOEH?
Options :

1. %1

2. % 1+1

3.9 21+1

4. % 2]

Question Number : 76 Question Id : 630680289396 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following molecules is spherically symmetrical about the z-axis?
Options :

d

| ® XY

Question Number : 76 Question Id : 630680289396 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AN AN 3e36S’ 7-298 0 5 Ferse Fredsd €9e0ad) IE?
Options :
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Lx ey

Question Number : 77 Question Id : 630680289397 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An orbital can have at the most two electrons, if they have opposite spins. This is according to the rule/principle
Options :

1. # Aufbau Principle

2. % Pauli Exclusion Principle

3. % Hund’s rule

4. % Heisenberg’s uncertainty principle

Question Number : 77 Question Id : 630680289397 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

283 °¢38 H5DTVE €868 (25607 €5d) LIANS 2.8 &88)ES OO BOK DO T EON &0LNOD. 9O &e
Q00550 (D0 OO :

Options :

1. % e3925" (Aufbau) Q750

2. ¢ DO S5 (b0

3. % 5008 Qo0

4. % 00D @ )eheh § O°(¢hO

Question Number : 78 Question Id : 630680289398 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Ca, the sequence of the energy level of the orbital is:

Options :

1.« 4s<3d
o % 4s>3d
3 % 45=3d
4 % 4s = 4p

Question Number : 78 Question Id : 630680289398 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ca S, 838)erS a0 38 ow 10!

Options :

1.« 4s<3d
) % 4s>3d
3. % 45=3d
4 % 45=4p
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Question Number : 79 Question Id : 630680289399 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following elements has [Xe]4f?5d1 electronic configuration?
Options :

1. ¥ Ce

2.¥ Gd

3. % Dy

4. % Lu

Question Number : 79 Question Id : 630680289399 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2065 RAER dresos’ [Xejafsd! Joged Deiany sBANG Jbr

Options :
1. % Ce
2. ¥ Gd
3. % Dy
4. % Lu

Question Number : 80 Question Id : 630680289400 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs is NOT correctly matched?
Options :

| % So—[Ar]3dl4s?
, % Ti—[Ar]3d%s?
3w Cr—[Ar]3d%s?

4 % Cu—[Ar]3d!P4s!

Question Number : 80 Question Id : 630680289400 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AH 50BN 2356 DE DO 23¢5HBTIBSCD?
Options :

| % So—[Ar]3dlas?
5 % Ti—[Ar]3d%ds?
3 Cr—[Ar]3d%s?

4 % Cu—[Ar]3d!04s!

Question Number : 81 Question Id : 630680289401 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT correct regarding Schrondinger equation?
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Options :
1 % ¥ must be continuous.

>« ¥ must be infinite.

5 % ¥ must be single valued.

4 % The probability of finding electrons overall in the space from plus infinity to minus infinity must be equal to one.

Question Number : 81 Question Id : 630680289401 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IPA0KE DDESETIE HOROEOD 18O B 5ES 1DELSOES DB A AE?
Options :

L% £y @?‘.)Q.S“faﬁri" @S)&}‘:}cﬁion“ o8,

¥ e:m:ja?o&r? 29906501 &0,
2. ¢

W &y DDOT IS Hend £8A eord.

DD edodo Aok DD BDodo DO (1) gnaoé‘i 20B0 JVFTROD SAFD Do BHYIVOT 2sdS
4 % RAFO0TP eotd. =

Question Number : 82 Question Id : 630680289402 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two sets of quantum numbers are given below. Select the correct option.
(A)n=3,1=2,m=-2..5=1/2

(Byn=3.1=2.m=-3..s=1/2

Options :

1. ® A and B are possible arrangements.

2. ¥ A and B are impossible arrangements.

3. % Only A is a possible arrangement.
4. % Only B is a possible arrangement.

Question Number : 82 Question Id : 630680289402 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
57030 D0DJR ToeD 28 0 AOLETO. DJD JoDE JocwFod.
An-3l-2m--2.8-wv2
Bin=3l-2m=-235=-12
Options :
1. % A 00050 B PG 5e008 @0a088en.
2. % A B8O B PSRN @:088ew.
3. ¢ A S5 add PG50 ADS @08,
4. % B S50 G500 s @088,

Question Number : 83 Question Id : 630680289403 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a set of degenerate orbitals, the electrons distribute themselves to retain like spin as far as possible. This statement is related to:
Options :
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1. % Quantum theory
2. % Pauli Exclusion principle
3. ¥ Aufbau rule

4. % Hund’s rule of maximum multiplicity

Question Number : 83 Question Id : 630680289403 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B23BE ©8)ErE SMBES’, O[TV DB SBH (250677, DENYFIEE 5605 T30 DOET TNELOET .
&2 (D82S B8 H020H0DIE:

Options :

1. ¥ 52600 JZ°050

2. % O S5 (b0

3. % 3925 (Aufbau) QOO

4. 50Q (057528 50 &% QA0

Question Number : 84 Question Id : 630680289404 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following elements has the highest 1st ionisation energy?
Options :

1. ¥ Li

2. % Na

3.% K

4. % Rb

Question Number : 84 Question Id : 630680289404 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 @H AN ¢3S @ehsBE 15 9aHDESE 38 EDAIEH E?
Options :

1. ¥ Li

2. % Na

3.8 K

4. % Rb

Question Number : 85 Question Id : 630680289405 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The element with electronic configuration [Xe]4f145 d106326p3 belongs to
Options :

1. % s-block

2. ¥ p-block

3. ¥ d-block

4. % fblock

Question Number : 85 Question Id : 630680289405 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[XeJdf!45d!%s%6p’ Degrs Darfana sBA edy aareso & DoBIA.
Options :

1. % s-2°8

2. ¥ p-2>§

3. % d-278

4. % £28
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Question Number : 86 Question Id : 630680289406 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following series of elements have nearly the same atomic radii?
Options :

1. ¥ Fe, Cl,Br, 1

2. ® Na, K, Rb, Cs

3. % Li,Be,B,C

4. % Fe, Co, Cu, Ni

Question Number : 86 Question Id : 630680289406 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1805 AX52ES 73S Iy 2.8 DBEIPED SFPSTT D) EOAS rose (363 DE?
Options :

1. % Fe, Cl, Br, I

2. % Na, K, Rb, Cs

3. % Li,Be, B, C

4. % Fe, Co, Cu, Ni

Question Number : 87 Question Id : 630680289407 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following has the largest ionic radii?
Options :

s
1. # Ca®

4« CI

Question Number : 87 Question Id : 630680289407 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 @H 50BN e3¢ @B OFE TERIT O EOAIE DE?
Options :

1 % CaZ™

4 Gl

Question Number : 88 Question Id : 630680289408 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options has the correct increasing order of electronegativity?
Options :

1. # P<Si<C<N

2. % Si<P<N<C

3. ¥ Si<P<C<N

4. % P<Si<N<C
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Question Number : 88 Question Id : 630680289408 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AH AN DODEDOE 220EIDCNITTeHES TINEY DB BT Ee00&0 EOBIE DE?
Options :

1. ¥ P<Si<C<N

2. % Si<P<N<C

3.9 Si<P<C<N

4 ¥ P<Si<N<C

Question Number : 89 Question Id : 630680289409 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding electronegativity?

Options :

1. ¥ Electronegativity is the tendency of an atom to repel electrons.

2. % Electronegativity is the tendency of an atom to attract electron shared pair.

3. # Electronegativity is the tendency of an atom to share electrons with the other bonded atoms.

4. % Electronegativity is the tendency of an atom to lose electrons.

Question Number : 89 Question Id : 630680289409 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 @H AN 3e36S 200N LT EHZ 000D HBIE IE?

Options :

1. % 200890552865 29I DO SR DEG0TH HDBXTENL) TZNEY D59.

2. ¢ 20605285 DI OIS aTH® L8 2300 e3880t DB TBNEY, 19393.

3. % 20089055256 ©9DSE ABE 0ES DBESTEN YOS D T DOTHET HESTEN) TB0EY, (959 e.
4. % 2009DR05TH5 NI O[TV ST DB3eed) TINEY (2959 .

Question Number : 90 Question Id : 630680289410 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement.
Statement A: The ionisation of nitrogen is more than that of oxygen because of half-filled p-orbital.

Statement B: The diagonal relationship is shown by the elements of the ond period.
Options :

1. ¥ A and B both are correct.

2. ¥ A and B both are incorrect.

3. % Only A is correct.

4. % Only B is correct.

Question Number : 90 Question Id : 630680289410 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

DB (D3I DOHE0R.
IEES A: KO QOB p-e38)erS B0 JEBS 0HAEBEI0 381238 E0T DBV I GOLNOA.
19EES B: DEE D000 265 DEAHE TINEY rOTOES &0ENOd.

Options :

1. ¥ A D805 B &0 3oy OB.

2. % A NHBAW B e BOtkr OB 5°.
3.% A S(¢hadd OBA.

4. % B 350 OBIA.

Question Number : 91 Question Id : 630680289411 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Match list I (atomic number) with list II (position in the periodic table) and select the correct option given below.

ListI List IT

a. 52 i. s-block

b. 56 ii. p-block

c. 57 iii. d-block

d. 60 iv. f-block
Options :

1. % a-ii b-I c-iii d-iv
2. % a-i b-I c-iv d-iii
3. % a-ib-Ii c-iii d-iv
4. % a4 b-il c-iv d-iii

Question Number : 91 Question Id : 630680289411 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

e 1 (2007 Do) rdor 11 @500 HHSS gux_ao)@“ BEIDCEI0Cs,

e I e 11

a. 32 L s-ors

b. 56 ii. p- gre

c. 57 iii. d- gre0

d. 60 iv. f- 20
Options :

1. % a-ii b-i c-iii d-iv
2. % a-ii b-i c-iv d-iii
3. % a-i b-ii c-iii d-iv

4. % a4 b-ii c-iv d-iii

Question Number : 92 Question Id : 630680289412 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The properties of elements are the periodic function of their

Options :

1. ¥ atomic numbers

2. ¥ atomic mass

3. ¥ atomic weight

4. % number of nucleons

Question Number : 92 Question Id : 630680289412 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sresre) ALY OF e °¢3 BEY 838 (DDANO.

Options :

1. ¢ DB SoP e
2. % DBIre |9550°3
3. % JBSrew 2080

4. % Srg8asra Sows

Question Number : 93 Question Id : 630680289413 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct decreasing size of the following species is:

Options :
% I=>T > I
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2. % I>T7>T
3 % I'>T >1

4. == I+

Question Number : 93 Question Id : 630680289413 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 AN DA 2B HDOSTEIO BT DT (Sed0ad:
Options :

1% Ijih[_'::sl"'
) % I>T">1
38 [>T >1

4 T =1> I

Question Number : 94 Question Id : 630680289414 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following compounds does hydrogen bonding occur?
Options :

1. ¥ CCly

2. % NaH

3. % HI

4. ¥ NH;

Question Number : 94 Question Id : 630680289414 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AN 0AS e3¢5 2FE RS 200 & D0IEI0ES” DB IES0E?
Options :

1. ¥ CCly

2. % NaH

3. % HI

4. ¥ NH,4

Question Number : 95 Question Id : 630680289415 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shows intramolecular hydrogen bonding?
Options :

1. % o-Nitrophenol

2. ¥ Water

3. ¥ p-Nitrophenol

4. % p-Chlorophenol

Question Number : 95 Question Id : 630680289415 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 RN AN e3¢5 @0STEN 0GR, TITNSE DE?
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Options :
1. ¥ 0- B E DS
2. % Q&%
3. % p IS SO
4. % p SFHS

Question Number : 96 Question Id : 630680289416 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the statement(s) that is/are correct.
Statement A: Density of water in the solid state is more than that in the liquid state.
Statement B: Water contracts when heated between 0°C and 4°C.

Options :

1. ¥ Only A is correct.

2. % Only B is correct.

3. % Both A and B are correct.
4. % Both A and B are incorrect.

Question Number : 96 Question Id : 630680289416 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DB 1HBEX(©) D OTHTOR.

1B A: D3 Ty, P0IE5eh (6965 VB’ 0T 50 VB’ DBV ST E0ENOE.
1998E35 B: 0°C 08050 4°C © 0655 SETAXN I A& HDOED0I22R0e508.
Options :

1. ¥ A S(¢hadd OB,

2. % B 39530 OBIA.

3. % A N8O Bew SOy SBI.

4. % A NOOM BN BO® OB 5.

Question Number : 97 Question Id : 630680289417 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following orbital overlap represents:

Options :

1. ¥ p-dn bonding orbital

2. ¥ p-dr antibonding orbital
3. % d-dn bonding orbital

4. % d-dr antibonding orbital

Question Number : 97 Question Id : 630680289417 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 DN 388 AT HID DFIL:

Options :
1. ¢ p-dn 2058 8¢S
2. % pdn S5B300% e38)¢rS
3. % d-dn 20358 e38)erO
4. % d-dn H530085% e8¢SO
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Question Number : 98 Question Id : 630680289418 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following has highest bond length?
Options :

1. ¥ H-H

2. % C-H

3. % O-H

4. ¥ F-F

Question Number : 98 Question Id : 630680289418 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180 AX AN ¢3S SRS 20065 B0 EOR &3O E?
Options :

1. % H-H

2. % C-H

3. % O-H

4. ¥ F-F

Question Number : 99 Question Id : 630680289419 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following molecules has bond length 107.3 A?
Options :

1. % CO,

2. % H,0

3. v NH;

4. % CH,

Question Number : 99 Question Id : 630680289419 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

3065 QOED o665 107.3 A DOBBYNN SOH e DA?

Options :
1. # CO,
2. % H,0
3. ¥ NH;
4. % CHy

Question Number : 100 Question Id : 630680289420 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

W4 and Wy are the wave functions for any two completely independent systems A and B. The total wave function ¥ for
these independent systems taken together would be given by:

Options :

1. & ¥Y=9 A lPB

, 8 T=TFp+¥p
3 % ¥=Wp—Wp
4 % T=Ty/¥p
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Question Number : 100 Question Id : 630680289420 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A 08000 B e9cnad A obain B e9s Gocdd Qj"é ‘&35@05}; &35&‘)‘(&)}&) 0o Pan0idnen. & ”@5@0@ ﬁg:ﬁ‘é}m} o
S00r Danoia T Qer grard:
Options :
1. & Y= \PA lPB

, 8 T=TFp+¥p
;. 8 T=Fy—¥p

4 % = \PA "PB

Question Number : 101 Question Id : 630680289421 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following have identical bond order?
Options :

CN and Oy

1. ®
> « CN and NO™

3 % CN and Oy

4 % CN and NO™

Question Number : 101 Question Id : 630680289421 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
180 AN A €365 O £33 20065 (8508330 EOA &3 DE?
Options :

| » CN”a08a 0y”

5 CN™ 508030 NO™

5 % CNTa0dosw 0,

4 % CNTa0doin NO™

Question Number : 102 Question Id : 630680289422 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The correct decreasing order of the O-O bond length in the following molecules is:
Options :

| % 02703>Hy0

) % 037 H02>0,
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3 ¢ H02703>0;

4 % 027 H)0Oy =04

Question Number : 102 Question Id : 630680289422 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BOCS 9 5B €Y 0-0 20065 TE§H0 TB0EY DB 7 (SeSadn:
Options :

| % 027 03>H09

, % 037 H0,>09
3 ¢ H02>03>0

4 % 027 HyO03>05

Question Number : 103 Question Id : 630680289423 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the INCORRECT statement regarding VSEPR theory.

Options :

1. ¥ The central atom is surrounded by bond pair and lone pair of electrons.

2. # The lone pair as well as bond pair repel each other and stay as far apart as possible.

3. ¥ If the central atom is surrounded by lone pair as well as bond pair, the geometry is irregular.

4. ¥ The repulsive interaction between bond pair and lone pair are in the order—
lone pair-lone pair < lone pair-bond pair > bond pair-bond pair

Question Number : 103 Question Id : 630680289423 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

VSEPR 5708 H020H00) D857 (DEID JOthEod.

Options :

1. % B0[¢S DBRTENY TREY® 2008 2365 0BT 2,038 2365 DO SR EOLTON.

2. % 2,088 23¢ @ 20 23¢5eN 2EE3SEES DTN HOAN B0 BTG &GOEFON.

3. % B0 DB TNEY® 2,008 2365 SO D0 2388 €d) LI, 25753 SNBSS0 GOLNOE.

4. ¢ 2085 2365 SO 2,08 235 SCSS DEGED IS & (Z0S GOENOE-
2,088 23¢5-2,0608 2365 < 2,088 2365 -2000) 236 > 20008 2365-2000) 236

Question Number : 104 Question Id : 630680289424 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correctly matched?
Options :

|« CIF3—T-shaped

, % NF3—Planar
; % BF3—Pyramidal

4 % HyO—Linear

Question Number : 104 Question Id : 630680289424 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1803 AH 50BN 23656 DA DO 23eHHSTIDB0E?
Options :

| CIF; — T-es=°6o

, % NF3—ddse

5 % BF3— 000G

4 % HO-8dHowm

Question Number : 105 Question Id : 630680289425 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ins p3d2 hvbridisation, d-orbitals used are:

Options :
L% dyy and dy,

2 2 2
) d,” " andd,

g o,
3 % s g v and dx}_.

.
4 % d,”and dy,

Question Number : 105 Question Id : 630680289425 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sp’d? 2058560ae” d- e30yeTwy DS SHEIFRoNRETRoN:
Options :

| s Oy 000 dy

2 2 2
) o G —y? wdamd,

2 2
J w =y B0 dyy

’
4w O D000 dy

Question Number : 106 Question Id : 630680289426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following hybridization have 75% of p-orbital character?
Options :

1. % 5P

2
) w SP

3
3. %P
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4 % dsp2

Question Number : 106 Question Id : 630680289426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3S 75% p-88.5 |50 EOB &), H0EBEB0 DE?
Options :
1. % 5P

2
) % SP

3
3. P

d 592

4%

Question Number : 107 Question Id : 630680289427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The type of hybridisation involved in IF5 is:

Options :
3
| % SP d

L o P

3 % Sp3d2

s% P

Question Number : 107 Question Id : 630680289427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IF7 &° (o Dogbsoaan 03S), 0o

Options :
3
| % SP d

) Sp3d3
3 % Sp3d2

3
4.% 5P

Question Number : 108 Question Id : 630680289428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following two unpaired electrons are found?
Options :

. % O2
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2.v O2

3 % 02'_

4$3N'3

-

Question Number : 108 Question Id : 630680289428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S 25T IO TN B &) ON?
Options :

1. % 02_
2.v 02

3 % 02'_

x N2

4.

Question Number : 109 Question Id : 630680289429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In sp hybridisation, we get:

Options :

1. ¥ three orbitals in a plane

2. % two orbitals at 180°

3. ¥ two orbitals at 90°

4. % four orbitals arranged tetrahedrally

Question Number : 109 Question Id : 630680289429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sp DOEBEBEISNE’, 5B ODOTHIN:

Options :

1. % 2,8 S50 Sorechd e38)erehy

2.9 180° 58 O e38)er09

3. % 90° 5O Do 880y

4. % HS0B0DOT €608 )G T°eND e88)Er$0Y

Question Number : 110 Question Id : 630680289430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following reaction is an example of

3Mg(s) + Na(g) L’- Mg;Nj(s)
Options :
1. % Combination
2. ¥ Decomposition
3. ¥ Displacement

4. # Disproportionation

Question Number : 110 Question Id : 630680289430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2ob el & &TFO.

3Mg(s) + Na(g) L}- Mg;N(s)

Options :

1. ¥ QO30
2. % QO30

3. % S (250950
4. % 90300

Question Number : 111 Question Id : 630680289431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The mumber of electrons lost in the following reaction is

2Na(s) +S(s) ——Jm Na,S(s)
Options :
1% ]
2.¥2
3. % 3
4. % 4

Question Number : 111 Question Id : 630680289431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Z0H z:‘:cjéeﬁ‘s F’oomﬁgeﬁ" DOTED &e5® 0.

2Na(s) +S(s) ——3m NayS(s)

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 112 Question Id : 630680289432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement(s) from the following.

Statement A: Addition of oxygen or an electronegative element to a substance or removal of hydrogen or an electropositive element from
a substance is defined as reduction.

Statement B: Removal of oxygen or an electronegative element from a substance or addition of hydrogen or an electropositive element to
a substance is defined as oxidation.

Options :

1. ¥ A and B both are correct.
2. % A and B both are incorrect.
3. %® Only A is correct.

4. % Only B is correct.

Question Number : 112 Question Id : 630680289432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1B0ES 95 50E& 3°¢36S° DB (HEES(©) DOTHE 0.

S A: 2.8 DT8 €38 1258 Soe 220058 SO ES0D EONB0 B I EBS B SOSN8
A0EE0D FHR0TNEI §ONESLOMT S SO .

1EES B: 2,8 S0 0B €38 1238 B 20080 5E¢928 8R0S SOR0NB0 B BB S
ANV E SNOESND BEHER), €38 ES0™ S SATED.
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Options :
1. % A B0 Be By OTBR.
2. % A 080 BeX) BT OB 5°).
3. % A Sr(hadd OBIA.
4. % B A0 OBIA.

Question Number : 113 Question Id : 630680289433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match list T with list L

ListI ListIT

a. NHz i. dsp?

b. [PtCL]J* | ii. sp’d

¢c. PCls iii. sp?

d. BCls iv. sp?
Options :

1. % a-iv, b-i, c-ii, d-iii
2. % a-iv, b-ii, c-i, d-iii
3. % a-ii, b-iv, c-i, d-iii

4. # a-ii, b-iv, c-iii, d-i

Question Number : 113 Question Id : 630680289433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
rdor [ wrdoe [16 2ddocsd.

i I aridme 11

a. NH3 i. dsp?

b. [PtCL]* | ii. sp’d

c. PCls iii. sp?

d. BCls iv. sp?
Options :

1. % a-iv, b-i, c-ii, d-iii
2. % a-iv, b-ii, c-i, d-iii
3. % a-ii, b-iv, c-i, d-iii

4. % aii, beiv, c-iii, d-i

Question Number : 114 Question Id : 630680289434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

Select the correct statement from the following.
Options :

| % By has bond order I and is paramagnetic.

N5 has bond order 2 and is diamagnetic.
2. ® 2 £
3 O, has bond order 1.5 and is paramagnetic.

4 % Op hasbond order 1 and is diamagnetic.

Question Number : 114 Question Id : 630680289434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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180CS 955E& ¢3S DB (HELS 0TS 0A.
Options :

% B2 &° 2065 §300 | 0BATD T 90T 0BAD &o0dd.

, % N, &5° 2065 Sa00 2 SBAID CoH® @omﬁobo@m &ob.

- 0, € 206 gavo 1.5 dwdoiw ﬁvtr"o:i)&bo@an Sob.

L% 0, & 206 gavo 1 Sudoiy Colr womﬁvbo@an &ob.

Question Number : 115 Question Id : 630680289435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is INCORRECTLY matched?
Options :

1. ¥ NO — Paramagnetic

2. ¥ CO - Diamagnetic

3. % KO, — Paramagnetic

4. ¢ BaO, — Paramagnetic

Question Number : 115 Question Id : 630680289435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

180CS B 5B 235 IE DO BSIGTIDEES?
Options :

1. % NO - *0° @00 0530

2. % CO - GO @ADL 050D

3. % KO, - 3P0° @001 0¢530

4. ¥ Ba0, - P0° @0D°)0H0N0

Question Number : 116 Question Id : 630680289436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the correct order of molecular orbitals based on their energy?
Options :
® W
L cls=oc Is=mlp, =06 Ip,

® *
ols<06 1s<g 2p, <m2p,
= w
<D < < 2
3 % cls=m2p, =06 Is=0c 2p,

L =
cls<m2p.<ao 2p, <o ls

Question Number : 116 Question Id : 630680289436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 BSI5DBS ¢3S ae3 ¥8 SO @D e38)EFEY DB (500 DE?
Options :

L& cls<o' ls< i'[ﬁp}. < G*pr
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* *
ols <o ls <0 2py <n2py

2. %

3 % ols < :rrﬁp}_. <g Is< G*pr
- i o

4w DHSRpREIp, 0l

Question Number : 117 Question Id : 630680289437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The reduction potential is related to energy by the equation:
Options :

|, % AH=nFE’
» % AH=-nFE’
3 # AG=nFE"

4 « AG=-nFE"

Question Number : 117 Question Id : 630680289437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& 008G $535500 300050 3§ Ty 5020065633030 B2 (BOE & DNEGBEISN T3y 80
Options :

| ® AH=nFE?
» ® AH=-nFE’
3. % AG=nFE’

4 « AG=nFE’

Question Number : 118 Question Id : 630680289438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The oxidation numbers of oxygen in H,O, H,O, and OF, are, respectively:
Options :

1. % —2,—2and 2

2.9 -2 —land2

3.% 2 2and2

4, % =2 2and -1

Question Number : 118 Question Id : 630680289438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

H,0, Hy0, s08050 OF, ©6¢5°Q e383)238 G308y €38)5889 Ho5ex S
Options :

1. % -2, -2 805w 2

2.9 -2, -1 08A%W 2

3.% 2,2080% 2

4. % —2,2 060 -1
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Question Number : 119 Question Id : 630680289439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct statement to complete the following.
The coating of zinc serves two purposes:

Statement A: It covers the iron and prevents its oxidation.
Statement B: It provides anodic protection.

Options :

1. ¥ A is correct; B is incorrect.
2. % A is incorrect; B is correct.
3. ¥ A and B both are correct.
4. % A and B both are incorrect.

Question Number : 119 Question Id : 630680289439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 °¢3Q J*8 TONEE IV (DEEIS JOTHEOR.
2308 b BOH (DAZT230° §BE ErdOBTM0CIHOA:
1IBEIS A: B RSN ED), T 385590 ABERDOA.
08K B: 98 BOS(605 838,80 @0 OO,

Options :

1. % AQBE; B OBIE 5°¢%0.

2. % A QB 5°¢0; B OTIA.

3. ¢ A B0 Be) By OB .

4. % A 00N Bew BOtr OB 5°).

Question Number : 120 Question Id : 630680289440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The structure of hydrogen resembles which of the following groups of elements?
Options :

1. ¥ Group 1 and group 2

2. % Group 14 and group 15

3. % Group 17 and group 18

4. ¥ Group 1, group 14 and group 17

Question Number : 120 Question Id : 630680289440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

E RS 072690 808 ¢3S & SIPOFTO () ) G0EN0E?
Options :

L% 155 (5070 08380 245 ((5°0)

2. % 1465 |19°6)) o085 1585 195°))

3.8 17 (155°0) S0OASM 1845 1P

4.9 15 1P, 145 (55°5) SN0OAW 1785 15°)

Question Number : 121 Question Id : 630680289441 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding the isotopes of hydrogen?
1. These isotopes have the same electronic configuration.

2. These isotopes have the difference in rate of reaction.

3. D, is rapidly adsorbed on the surface than H.

4. H, reacts faster with Cl, than D,.
Options :

1. % Only 1 and 2 are correct.

2. % 3 and 4 are correct.

3. % 1,2 and 3 are correct.

4. 1,2 and 4 are correct.
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Question Number : 121 Question Id : 630680289441 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

PEBS DNTDODENOZ (DFESRY) 000D 80 ¢3S’ DB (HEEISEN ID?
1. 88 DX0FTRAODSNEN 2,8 O[T D50 OB 0T om.

2. &8 0TS0 IES BN 03§ B> SOLNOE.

3. €&0S03 Hy $0T JHEOM D, 5701075230 S008.

4.D, & 508 Cl, & H, SHorr 585" S 0enod.

Options :

1. % 1 308050 20 557530 OTI.
2. % 3008350 4 e ABI.

3.% 1,2 0805 3 e SBI.

4.9 1,2 000 4 & OBI.

Question Number : 122 Question Id : 630680289442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match List I with List II.

ListI ListII

a K i. 7s!

b. Rb ii. 63!

c.Cs iii. 5s!

d. Fr iv. 4s!
Options :

1. ¥ a-i, b-ii, c-iii, d-iv
2. % a-ii, b-i, c-iv, d-iii
3. % a-iv, b-iii, c-ii, d-i

4. % a-iii, b-iv, c-i, d-ii

Question Number : 122 Question Id : 630680289442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ardur 12 erdur [16 aadocsod.

i) 1 aridme 11

a. K i, 78!

b. Rb ii. 6s!

c.Cs iii. 5s!

d. Fr iv. 4s!
Options :

1. % a-i, b-ii, c-iii, d-iv

2. % a-ii, b-i, c-iv, d-iii
3. ¥ a-iv, b-iii, c-ii, d-i

4. % a-iii, b-iv, c-1, d-ii

Question Number : 123 Question Id : 630680289443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following alkali metals is correctly matched with its flame colouration?

Options :

1. % Li— Crimson red

2. % Na — Violet

3. # K - Golden yellow

4. % Cs— Green
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Question Number : 123 Question Id : 630680289443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8005 BRI 5DBD T3S’ D 378 SN T 2305 B0 DB BSHBIDE0E?
Options :

1. ¢ Li- (808 &0

2. % Na- I8

3. % K- 208 D)

4. % Cs-DN)

Question Number : 124 Question Id : 630680289444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following isotopes form(s) heavy water?
Options :

1. ¥ Protium and deuterium

2. % Protium and tritium

3. % Only deuterium

4. ¥ Only protium

Question Number : 124 Question Id : 630680289444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & DIFETHEN 2778 2377, B IEORON?
Options :

1. ¥ (e300 HBAW drsTI8aH0o

2. % (e300 HBAW (¢3e3aho

3. ¢ g RIOON0 (b

4. % (3000 S(hadd

Question Number : 125 Question Id : 630680289445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT Lewis acid?
Options :

1. ¥ BF;

2.9 CO

3. % Ag®

4. % Ni

Question Number : 125 Question Id : 630680289445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3¢S° BV B8N0 I DE?
Options :

1. # BF;

2.¥ CO

3. % Ag”

4. % Ni

Question Number : 126 Question Id : 630680289446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following theories in the chronological order.

1. Lewis theory

2. Bronsted — Lowry Theory

3. Arrhenius theory
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Options :
1. % 1,2,3
2.% 21,3
3.3 21
4. % 31,2

Question Number : 126 Question Id : 630680289446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 AFTOT O OSSP NEOMT 0G0,
1. BAR AF°0H0

2.2. S & - S8 droso

3. 90NV DT°0H0

Options :

1.%1,2,3

2.% 21,3

3.93,2,1

4. %3.1,2

Question Number : 127 Question Id : 630680289447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

A given species is said to be oxidised if its:
Options :

1. ¢ oxidation number increases

2. ¥ oxidation number decreases

3. % oxidation number remains constant

4. # oxidation number becomes negative

Question Number : 127 Question Id : 630680289447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AN 25N 38)5S€90 TOAOR TBHYDERS0E 2,53 >
Options :

1. ¢ 3838560 Do OB I

2. % 3815869 Hows NS

3. % 9835569 Do DBOMP €5d)8))Chd

4. % 388569 HOWS BoETeHE0M 5389 Y

Question Number : 128 Question Id : 630680289448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The oxidation state of N in NH3 and HNj is, respectively:
Options :

1. % 3and 3

2. % —3and -3

3. —3and-1/3

4. % 3and 1/3

Question Number : 128 Question Id : 630680289448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NH; s08050 HN3 ©65° N By, €38 )55 e oSS0
Options :

1. % 3:08a%% 3

2. % -3 0605 -3

3.¢ -3 0608w ~1/3

4. % 300805 1/3
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Question Number : 129 Question Id : 630680289449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is the least stable?
Options :

| I_EECTO}
) % NHQCOB
3 % KzCO;

4w RbyCOs3

Question Number : 129 Question Id : 630680289449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 50709 VDBOMT SOTE DE?
Options :

| ]_iECTOB
) % Na2CTO3
3 % KECO3

4 % RbyCO;3

Question Number : 130 Question Id : 630680289450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Beryllium carbide on treatment with water evolves-------
Options :

1. # Acetylene

2. ¥ Methane

3. % Ethane

4. % Propane

Question Number : 130 Question Id : 630680289450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

DS 985S P BEDTHO °BHE SEVSETIE --nmrev
Options :

1. % R&OS

2. ¥ BS

3. % &S

4. % |1&FDQ

Question Number : 131 Question Id : 630680289451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding alkaline earth metals in comparison with alkali metals.
1. Alkaline earth metals are harder.

2. Alkaline earth metals have higher cohesive energy.

3. Alkaline earth metals have lower melting point.

Options :
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1. % Only 1 and 2 correct
2. % Only 2 and 3 are correct
3. % Only 1 and 3 are correct

4. % 1,2 and 3 are correct

Question Number : 131 Question Id : 630680289451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

56 0988 SSFO TTESEFOS O 15516 0 RS BS (DELSOES HBID .
1. 58 0B 55 e HEI™ G0eron.

2. 576 098 S50 eBE 2065 $8 AR cotrow.

3. 5°8 098 S’SPen %0985 [NZXS T30 EOR &0 om.

Options :

1. % 1 08050 2 €0 3775 DT
2. % 2 8050 3 @0 S°(ehadd DT
3.% 1 08050 3 @0 S(ehand OB
4. % 1,2 080 3 €0 OB

Question Number : 132 Question Id : 630680289452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The solution of alkali metal in liquid ammonia is conducting due to the presence of:
Options :

1. # protons

2. % hydrated electrons

3. ¢ ammoniated electrons

4. % ammonium ions

Question Number : 132 Question Id : 630680289452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

18565 @RS 58 &' (T390’ B GO0 SO a3aE & 5275005 OB &0eN0d:
Options :

1. % |FErD

2. % PBBE QO TRV

3. ¥ @9ZAANTVE DO TN

4. % 937000 ©ASPD

Question Number : 133 Question Id : 630680289453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following alkali metal reacts very slowly with bromine?
Options :

1. ¥ Li

2. ¥ Na

3.%¥ K

4. % Rb

Question Number : 133 Question Id : 630680289453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S Q T8 'S0 (STWSS Trer FaddBM t9E5eS T 0EN0E?
Options :

1. ¥ Li

2. % Na

3.% K

4. % Rb
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Question Number : 134 Question Id : 630680289454 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match list I (oxides of nitrogen) with list IT (oxidation number of nitrogen).

ListI ListI
a. N:O L5
b. N0 ii. 4
c. N2O; iii. 3
d. NO iv. 2
v.l
Options :

1. % a-i, b-ii, c-iii, d-iv

2. % a-i, b-iii, c-iv, d-v

3. ® a-v, b-iv, c-iii, d-ii
4. % a-v, b-i, c-iii, d-iv

Question Number : 134 Question Id : 630680289454 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e [ (Dgad 0308, 893yw) D wrdee 11 (g dius), 983560 Doay)d asdosod.

e 1 e 11
a. NoO 1.5
b. N2Os ii. 4
¢c. N2Os iii. 3
d. NO iv. 2
v.l
Options :

1. ¥ a-i, b-ii, c-iii, d-iv
2. ® a-i, b-iii, c-iv, d-v
3. ¥ a-v, b-iv, c-iii, d-ii
4. % a-v, b-i, c-iii, d-iv

Question Number : 135 Question Id : 630680289455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct option to complete the following.

The formation of ammonia through Haber process is facilitated by:
I: low temperature

II: high temperature

III: low pressure

IV: high pressure

Options :

1. # T and II are correct
2. % Il and III are correct
3. ¥ [ and IV are correct

4. % I and IV are correct

Question Number : 135 Question Id : 630680289455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 @A J°8 TANEAE DT DODED JOTNFOR.

228 1HIBOH ¢ S0° e95357 08 DEIEI0 A T 5T° NBHB0 TODERB0E:
I: @) G&¥((ied

II: ©&F &&f|(ed

III: @) S0

IV: @053 S0
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Options :
L. # T 08AW e OB
2. % 11 088 IIeN OB
3. ¥ 10O TV OB
4, % 108050 IVen OB

Question Number : 136 Question Id : 630680289456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following acids have an S-S bond?
Options :

1« H25203 and HESEO(S

9 H25206 and HESEO?
3 % HzSzO_; and H35207

4 % HzSzO‘; and HESEOS

Question Number : 136 Question Id : 630680289456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 & 8O’ S-8 200 GOENOE?
Options :

L H55,03 svdoiw HyS,04

) % H;5,04 s0808w HyS5,04
3 % H55,03 200030 HyS5,04

4 % HS)07 dvdam HyS,0g

Question Number : 137 Question Id : 630680289457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct.
Statement A: II oxidation state of lead is more stable than IV oxidation state.
Statement B: This phenomenon is called inert pair effect.

Options :

1. % A and B are correct.

2. % Only A is correct.

3. % Only B is correct.

4. % A and B both are incorrect.

Question Number : 137 Question Id : 630680289457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (DELIOS’ A JBIA/.
1B A: D0 T30EY 11 €38 1880 3 TV €38 1589 e E0T) VSO &0ENOE.
(DB B: 88 QA .05 2388 3¢5 (0270 @9 90T,
Options :
1. ¥ A 08050 B e OB.
2. % A SP(hadd OB,
3. % B 30(eho30 OBIR.
4. % A HOAW B e BOr OB 5°).
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Question Number : 138 Question Id : 630680289458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The number of unpaired electrons is increasing in the order:
Options :

| % NO<NO"<0,

, x NO<0,<NO*

; v NOT<NO<O,

, » NO"<0,<NO

Question Number : 138 Question Id : 630680289458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&3 (53006 2655°Q A TR HDOWIS DOT (Sr0:
Options :

NO < NO™ <0,

1. #
, x NO<0,<NO*
, v NOT<NO<0,

, % NO"<0,<NO

Question Number : 139 Question Id : 630680289459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B, H,, .4 is which of the following types of borane?
Options :

1. % Pyro

2. ¥ Nido

3. # Closo

4. ¥ Archano

Question Number : 139 Question Id : 630680289459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B H, s ©9:20:206 & S0b J 0So &67
Options :

1. ® ?&)6& (Pyro)

2. ¢ Q& (Nido)

3. % S8 (Closo)

4. % @U"QS (Archano)

Question Number : 140 Question Id : 630680289460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The shape of IF7 is

Options :
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1. % hexagonal pyramid
2.+ pentagonal bipyramidal
3. ¥ heptagon

4. % capped octahedron

Question Number : 140 Question Id : 630680289460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IF,; O30 E) e35°80 .
Options :

1. % 7RIS DEE

2. ¥ DOEFHIS BABDSS
3.8 TS

4. % ' ST

Question Number : 141 Question Id : 630680289461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following interhalogens does NOT exist?
Options :

1. % BrF

2. ¥ BrF,

3. ¥ BrFs

4. % BrFs

Question Number : 141 Question Id : 630680289461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 & ©0HHHFS BN G0CSLY?
Options :

1. ¥ BrF

2. ¥ BrF,

3. % BrFs

4. % BrFs

Question Number : 142 Question Id : 630680289462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The TUPAC name of the Li(AlHy) is
Options :

1. # Lithium tetrahydroaluminate(I)

2. ¥ Lithium tetrahydridoaluminate(III)
3. % Lithium aluminium hydride

4. % Lithium tetrahydridoaluminium(I)

Question Number : 142 Question Id : 630680289462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Li(AlH,) 3308 TUPAC SPa0ed0 )
Options :

1. % OEOHO BEF 3 Ers D E(T)

2. ¥ OHOHO BT 3 AEOOTSNE (1)
3. % OHOHO TrENAN0 | B

4. % OEOHO BT B E TS0

Question Number : 143 Question Id : 630680289463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct?

Statement A: [Col—"é]j_ is paramagnetic.

Statement B: Magnetic moment of [C‘0F6]3_ is

Options :

1. Only A is correct.
2. % Only B is correct.

3. % A and B both are correct.

4. % A and B are incorrect.

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

5.3 BM.

Question Number : 143 Question Id : 630680289463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 PSODOS” DDDO/D DED?

250 A: [CoFgl’ ™ aror e03027) 08%0.

£500 B: [CoFg]>~ athog), evaidady 06 gravsiw 5.3 BM.

Options :

1. ¥ A S7(ehadd OBIA.

2. % B 3¢9 OB,

3. % A B0 B &0 BO® OBI.
4. % A NBAW B e OB 5°).

Question Number : 144 Question Id : 630680289464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match List I (metal) with List IT (ore).

ListI ListII

a. Al 1. Haematite

b. Cu ii. Sphalerite

c.Zn iii. Chalcopyrite

d. Fe iv. Bauxite
Options :

1. % a-i, b-ii, c-iii, d-iv
2. % a-iv, b-iii, c-ii, d-i

3. % a-iii, b-iv, c-i, d-ii

4. % aii, b, c-iii, d-iv

Question Number : 144 Question Id : 630680289464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
arder 1 (e5550)D) ardor 11 (rdtosn)éd 220000t

e 1 erddoe 11

a. Al i. 3066

b. Cu ii. Iy

¢.Zn iii. a"eﬁ"a;_._}gefn

d. Fe iv. &73y6
Options :
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1. ¥ a-i, b-ii, c-iii, d-iv
2. ¥ a-iv, b-iii, c-ii, d-i
3. % a-iii, b-iv, c-i, d-ii

4. % a-ii, b-, c-iii, d-iv

Question Number : 145 Question Id : 630680289465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct electronic configuration.

I: Fe — [Ar]3d%4s?
II: Ru — [Kr]4d%5s?

II: Os — [Xe]4f*5d%6s2
Options :

1. ¥ Only I and II are correct.
2. % Only II and III are correct.
3. ¢ Only I and III are correct.

4. % 1,11 and III are correct.

Question Number : 145 Question Id : 630680289465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R0 JOFIE DFGRBVN JocE ol

I: Fe — [Ar]3d%4s?
II: Ru — [Kr]4d%ss?

II: Os — [Xe]4f*5d%6s?

Options :

1. % 1308050 IT e S(ehadd OB .
2. % 108050 I €0 3% ad OB .
3.9 150805 11T e S(ehad OB XD.
4, % 1,11 OO T e OBI.

Question Number : 146 Question Id : 630680289466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following properties is NOT associated with transition elements?
Options :

1. # Variable oxidation state

2. ¥ Complex formation

3. % Do not form alloys with other metals

4. % All are metals

Question Number : 146 Question Id : 630680289466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2808 ©F TS HBIES HFOTOS H0D0B0 BAE DE?
Options :

1. % 50°¢528 381856 DD

2. % 508 dorpea0

3. ¥ 2SS STOS MFSTOD BB

4. % Q) 'S

Question Number : 147 Question Id : 630680289467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
[CoCly(NH;3)4]NO; and [CoCL(INO,)(INH3)4]Cl will show which type of isomerism?
Options :
1. ¥ Coordination isomerism
2. ¥ Jonisation isomerism
3. % Hydrate isomerism

4. ¥ Linkage isomerism

Question Number : 147 Question Id : 630680289467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[CoCly(NH3)4]NO; avdosin [CoCHNO, ) NH;3)4]Cl en D 65200 0 andaandd aranaron?
Options :

1. % 0.0 0% 208P0823600

2. ¥ @0HAEE D000

3. % 3B 0082850

4. % 90005 0FNE2300

Question Number : 148 Question Id : 630680289468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following transition metal ions is purple in colour?
Options :

L% Sc&T
2. TF
3 Tit"

4 % Zn®"

Question Number : 148 Question Id : 630680289468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 HBIYS S5 0TI D & SoMHES’ OENOE?
Options :

1. % Sc3™
2. Tis_
3 % Ti*™

4 % Zn®*

Question Number : 149 Question Id : 630680289469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Atom bomb is based on

Options :

1. ¥ nuclear fission reaction

2. % nuclear fusion reaction

3. % combination reaction

4. % displacement reaction
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Question Number : 149 Question Id : 630680289469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

€3I 23702 0 8500 GOENOA.
Options :

1. ¢ 30138 DD 9B

2. % Bo|58 H0O& s

3. % HOTIH 5SS

4. 8 S|2503 5B

Question Number : 150 Question Id : 630680289470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which nuclei is used to locate brain tumours?
Options :

1 % GCH

Question Number : 150 Question Id : 630680289470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T3 E330 0 B8O O S sETDOD SHTBTAS?
Options :

% GCH
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